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And regarding a sealed cover, until the majority is broken

Overview

827 taught that if a ©9n °%> is tightly sealed, it protects anything inside it from
becoming N7 2R 81w, unless a majority of the *%5 is broken. moown discusses
when a °’no 7Y is effective and when not.

= 3355 NN v Yav A7) 797 NI NPV PRT 7Y WD
»""w9 explained that even though this *%5 (which is 2°nd 7% apm around its
opening), has a hole which is even 1127 X*%112, it will not be n»i1 MR ARAIW 22PN,
since 7821 does not enter into a °>> through a hole, because it is written, ‘and

any open vessel will become Xy, if it does not have a ’nd 7°»% on its opening” -
= %293 797 XYY DI NN 79717

For 7xn10 enters through its designated opening, but not through a hole.

moon asks on "wd (1):
= 9915 DN 790K PHINM 1IN (52 nwn) DT NIVNT /Y P92 PNT 1IYPN)

And we ask on *"v1, for we learnt in a ;7327 in the tenth P2 of 2°%> noon, ‘and
these vessels can be saved from 27X NX”W with a 930D 791%, etc. the mwn continues -

- VTN APV N TN 9P NPY ToI8T S¥nun D181 152 D91 12 1IN
And the 0o 1% saves them whether the 7°no 7% covers from their opening, or
whether from their sides’ This concludes the 7awn. 5010 continues; it seems from
the mawn that there is a requirement that it be % np 7923 nPwm (even) if it was
punctured on the side —

mooin asks an additional question on *"w7 (2):
= H9RHN NINY 937 9533 Y515 HYDINY 1D 19PN NN 7951 9N INT NI

! mooin is referencing the X3 on 2,7% (which in our text reads; 12171 MADW ¥ N5 THT AP ORY).
29y a"721 oX1 A" Ta..
3 95,0 (NPM) 72712 reads, X7 XAV IV N2 THT PR WK MNP 29 KA.
4 According to >"wn if a "2 is 9°nd TM¥ AP around its opening, even though it may have other holes on its side or
bottom, nevertheless it will not be nni1 PmRa aR™IL 73pn, unless most of the "9 is broken.
5 In our nYIwn it is '} mIwn (not '2).
¢ mpoIn reads the words DTRR 172 21 P2 1°9°¥M) to mean that a 2>no Tny is effective whether it is covering the opening
of the *93 or whether the 2°no 71X is covering a hole in the side of the ®23. In any case a hole in the side also requires
a 2°no 3. This contradicts >"w15 who maintains that a hole in the side needs no covering, for the 7Xmv cannot enter
from a hole, only from the designated opening (unless it was 1217 nro1).
7 See there '3 mwn.
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And furthermore we learnt in the following 7w, ‘and with what do we cover
it (from which materials can we make this 2°nd 7°n%); with plaster, and with clay,

etc. and with anything which smears -
= 998 1N) DIND NINY 2391 NIDIYA NI \Y¥A2 XD 199591 )PN)

But we do not cover it, not with y¥2 (tin) and not with lead, because it covers

but it does not seal tight’. This concludes the mwn. MooIN continues -
= ANMIV NV NIIY Y 227 Synwun

It seems that even with a minimal hole the 7X» enters.

Another question on *"w15 (3):
= MDINN DI9Y MNNDI NAPIY NN (x,np xap xa2) RNDP TN N 1N 0NN INT NI

And another difficulty, for the 71w there teaches, and this mawn is cited in p7»
X»p 517, ‘a barrel which was punctured and the (wine) dregs sealed the hole,

they saved the nan from 2 nxmw -
- DYTTNN P2 NADIY 1Y NI NP

If he stuffed the hole with a twig, it is not 7°x» unless he smears it (with plaster)

from the sides -
= 10599315 99997 1223 PPN 1D NIV 1Y DXV 1N

If there were two twigs with which he sealed the hole, it is not °» unless he
smears from the sides and between one twig and the other’.

mooin asks three questions on *"w15. 1. From the 71wn which states a7°7°X¥n 13, which indicates
that nxmw enters even from a 7%7 3 2p1. 2. From the mwn regarding a Xw 95 2p1 (which is
presumably not a nnd). 3. From the mwn of map>1w n°2n that it requires a 72°No.

moon answers the questions on *"'wA:
= DYVNPN WINPT NI DIONT PHYY 13929 9DINY

And the >''1 says that these n11wn present no difficulties with >'"'2-p -
- AN 95 %Y DNDIY 1Y 19592 JOP AP 797 IPPON NNV NI NNDA INTT

For certainly 782 enters through the opening even if the opening is a small

hole, so we require that the opening be closed completely -
= Y99 7298 991

8 One may not use yv2 or N9 as a 7°’nd 71X because it does not cover it tightly meaning there are still some small
openings which are not covered. This indicates that there can be no holes; every part of the *3 must be covered tightly.
[It would seem that nmooIn assumes that a mnd of a utensil is (usually) much larger than a Xyw %3 2p3, therefore if we
are excluding a w"> 2p1, it must not be referring to the rins. See footnote # 11.]
o mwn ow.
10 We see that a hole allows the 78m10 to enter even though it is not the opening (we are discussing a 72p>w n°an).
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Therefore we require the smearing'! -
- 29 TS HUYY KON T80 1 92U 12993 39991 NY 11378 P2 D97 PPAT NI

And that 71w»n which stated, ‘whether from the opening or whether from their
sides’; it is not discussing a case where it was punctured as a break from the

side, but rather it was punctured to be used as an opening, therefore it requires a Tnx
2no -

= 15931949 No811D IN 141299 NNNIYI 2991 13NAPY H%ANT HTNNT XINM)
And that 73wn of mapsaw noan, which was cited in ®17 1, is discussing where a

majority of the n°an was broken open, or that the hole was %9 Xox%> -
= 16899910 NPND YA NN BPYUNT

which is considered an opening, so therefore it requires a proper sealing.

MooIN asks on "wNo:
= 17393 (n mwn v p19) DY NIDNI PINT NNN NYPN TYUN 12 PNNY 192N

And the R"2" asked from this which the 712% teaches in 2% noon; ‘if vessels
were perforated -

- PPYNI YOV PPYNRY MHUYD DN B1Y PYIIND MUY
Those vessels which are made to contain food, their =1» w2 is 2°n°>, those made

for liquids, their mww>w is like liquids, which is mpwn o135 -
- IPYN D192) DIND TN XININY IMN 19209 7a9) 799 HWyn

Those vessels which are used for 1°75% and 1°pwn, we place upon it the stringency

of ®np 79»x and nIpwn ©102°. This concludes the mwn —
- APYN D 292 13 YN DIYIIN) DIPYNY MUY 11 WIN

mMooIn explains; since it is used for pw» and 928 and it has a hole of mpwn o1 -
=1 TING PPYNRY TNINRT NIND ION 1ITNT 199NV 113 Y DIN9 1983 HI81 19N

It cannot save its contents (from 2mMX nXnw) with a »np 7923, for the o°mon
decreed on 7Ppwn? PIIR? MW 2°92 on account of those 0°95 that are designated

for " pwn alone (where in a case of 7ipw» 01103 2p°1 a 2°ND MY is not 2¥n) -
= NIV NI 199NN 5 2PI2) PYUIINT TNV 1123 ’DD MHN ANV NP PPIYD)

' This answers question # 2. See footnote # 8. [The Jup 2p1 was a nno.]
12 This answers question # 1. See footnote # 6. See ‘Thinking it over’ # 1.
13 The word n2p°1 indicates that it was perforated, not nnom 711%>.
14 See previous X7 1"7 'o1n. Regarding the size of the hole/break.
15 See footnote # 14.
16 This answers question # 3. See footnote # 10. See footnote # 24.
17 In our n1awn it reads 12p°1 (not 2p3).
18 mpoin will shortly explain that this means the 1w that would prevent a 2>np 7% to be 3n.
19 The 127 miman amends this to read 7XAW NBIY PR X7 (instead of AR 710101 °X7).
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However, regarding 78»w nvap it is a 95 (even though it is apwn on2a 2p71),%°
since it is designated for 1928 as well,?' so the question on >"w1 is; in such a hole

how can nIR2 enter, since *"w1 maintains that Xm0 enters only nN97 717 or even 787 19, if it
was 1217 nno1 or 1117 XX (but not Apwn 01133) —

nBoIN answers:
= 1999 XX IN 129 HNAY NN Y¥aT NNT PNNY 1229 XNI*YM

And the >''1 answered; that this which we require here that a majority should

be broken or punctured 1729 X325, however by anything less, a 2’no 7% will be 2°xn -
= 0N APIN 12 Y9 NMYIY Y INVIY DIPNA 2P NPIT 19D

That is only when it was punctured in a place that below the hole there still

remains a " for a "93; that Myw is -
= (x,m PN 22DV 1IN INNT NINNA YWNINN NPV

Like that explicit 29p°2 which is cited in N v YK P70
- %95 999U 271 19 NVNY INYI PRY DIPNA HVNY 272 YaN

However if it was punctured lower, in a place where below the hole there does

not remain 92 "YW, then -
- (h mawn /b pasy 220999 NIDNT NINN 23 NPYN D12 PPYNYY 17193 DIIINY NV M1

The =¥ for 2°92I8 is a N1 and for Ppw» it is Pw? 83122 as that 71wn states in
279> noon.

In conclusion; according to *"w2 a 2°no 7Y is 7°¥n even if there is an uncovered hole, provided
that, a) there is a °%3 W below the hole, and b) the hole is less that 217 or 177 X°¥1m>. However
if below the hole there is no *25 M¥*w, the 2°nd 71¥ will not be 2°¥7» if the hole is n°1o2 (if it is 71N
1P92IRY) or apwn 001 (if it is Ppwn? Tnen).

moon now offers his explanation (different from >"w19):
= 240NV DXAPIN ON DIND TINY DIPN 1299 NNDIY 1Y ¥5N PHYNYI W91 DN 1%

And the n'"9 explains our X723 thus; up until a majority is broken, a ?>np 7%
is effective, provided that the holes were sealed -

20' A broken 23 cannot be R 92pn, nevertheless this 73 is not considered broken and it is 7AW 2P even though
it is 7PWn 0122 2p°1 and it is also used for Ppwn
2l We go X2 both ways; we consider it Ppwn? "Wy so 7pwn 01132 2771 does not allow a 7°no Y to be ¥n. We
consider it 19212 "1y so even though it is also a 1°pwn? >3, nevertheless it is RMW 22pn for we consider it a 1P221R7 ¥92.
22 See 2p°1 1"7 2,7 MoON. For small vessels that were up to one 2?2 the MW is Jup N3°0 73, and from a M to a XD
the MW is a N¥>21. In our case too if the *23 contains either of these amounts respectively, it would require 1217 o3
or 177 X°¥1d. This is the case *"wA is referring to.
23 We will need to say that the mwn in (7" ©"9) °%3 is where there is no *72 1w under the hole.
24 This is not like >"w"5 that no hole less than 1217 can invalid a 2°nd 7n¥, but rather all holes must be sealed.
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= 129500 NYIIN PPN Y PN NONINA IN 1299 NN YAN
However, if it was 1219 nr91 or punctured 7129 32123, then closing these holes will
not be effective -
= (3,597 DINAT Y92 1990NRTI 1P7182) PRY VIV 102V PYIIND M1 NON
Rather it will be considered like food which was kneaded in mud, which cannot
be saved even though the mud covers them completely, as the X713 states in the
beginning of 2572t NJ0»; similarly here -
— 2595 1995 11V 1YV 1219 NNAIY 11954
That since it was 1297 nno1 they are excluded from the category of a "> —

The n"7 disagrees with the *":
099V MNNDI NAPIY NANT NN

And that 71wn regarding a barrel which was punctured and the dregs sealed the
hole -
— 2PN Y9 DIIY MNDY 7NWYI NNNDY KWA 265959

It is in a case where it was not broken the amount of 217 or 1727 X°¥12, and the
oy nw sealed the entire hole, therefore it is 9°%n -

Mmoo responds to an anticipated difficulty:
= 2899390 198N YIN (ow xnp xa33) DN N9 SYAT N

And regarding this which 829 queried there; ‘what is the rule if he stopped up

half’ -
= XY IN NY9YNI N1NIND 11 91 INND I8N OINIY NININDIY N8N 9N AYIYH29 0N

This is the explanation; he stopped up half and the 2>9»w sealed the other half;

is it considered a proper seal or not -
= D59%2NY NI P2 NI XY NNIND NYYN NDT NI NPPN IN0)

And n» 27 cited the 71wn which states that if he stuffed it with twigs it is not
considered a sealing unles he smears it with plaster between one twig and the

other -
NP NN INP N9 0NN IVUNI NN DIINY MINNDI NINN PN NN NIYYUN NY 993 N9

25 Therefore they cannot be %1 even with a 2no 7n.
26 See footnote # 9. This is in contrast to how the > explained this 7awn according to >"w1 that it was 1217 nn93 or
717 R¥m3 (see footnote # 16), which is somewhat of a P17 to say that a 7717 can cover a hole 177 R*X13 or 1217 nNnd1.
27 See X"w1rn that this means it was not 12172 nn53, however it was N°F X°¥%3 nrna for 192X or 7pwn 0133 for Ppwn
therefore we require 2177 22 n»°no. However if it was less than this 99w, no 72°no is required. In short; 1217 NA91 no
7 no will help, 01 &°%115 3p°1 a n*no will help, less than n°7 XX, no 72°N0 is required.
28 What is s'827 query; we are now saying that in order to be 2°¥» it is necessary that all the holes be closed up?!
According to *"w1 it is understood (see [however] ‘Thinking it over’ # 2), since a 7% 11 21 is no problem (unless it
1S 1217 NN or NN RXIAD).
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So here too presumably it is not considered sealed when he stopped up half and
the 2v9»w sealed the other half; and WX 27 answered that by the twigs if it is not

plastered the seal will not stay; however here by 7% 7aX it will stay (even) without
plastering.

Summary
According to *"w a hole does not prevent the °no 7°n% over the opening from being

2%xn, if it is less than 211, According to the n", all holes must be closed for the 7%
5°no to be effective; however if it was 1217 nno3, a 9°nd 0% will not be effective even
if it was onol.

N

Thinking it over

1. Regarding the f1wn of 121 27 7°X¥n 173, the "1 answers (according to "), that the
hole was nno 7118.%° However regarding 72p°1w n°an, the > answer that it was nno3
1211;%Y Why did not the >"1 answer that the 7awn of 07> 1°%n 12 is also discussing a
case of 1211 nnoa?!3!

2. Footnote # 28 stated that according to *"w" we understand s'X27 query. However
the " has established the m1wn of 7ap 1w n°an (from which we are attempting to
resolve the X*¥2°X) in a case of 7217 v, where 2" also agrees that it requires 777°n0,
so how is the X*v2°X understood according to >"w1?!

2 See footnote # 12.
30 See footnote # 14.
31 See Nk now ,X"wNn and o1 "1,
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